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No. m A 3R A& B TEMABRE | PEME B Gl xS

1 |BRILEER W EsUY | EXS5EALE 154,717 | ke 35| 2 =R

2 |RARER 500L 2N B, EER 4977\ & 450 |2 ERBAR

3 |ERAKKERR 20L 2N FOB—~i&HE 33| K 450 |2 ERBASR

4 |ERAKKER 8.5L 20N FOB—~)i&HE 15| 650 | (i 2 EFREL R

5 |RIAER Ao PR 31,377|L 160| B SEARH

6 |RIAERBRER) PR |BREE 4,107|L 203| B BEERM

1 |BRAR(IER) 7000L RUR |EESHET=A—ILRE 136 |2 1,800 | I EEESRMY

8 |EHRAR(EEM) 7000L 2N HEVRT=R—ILREL 140 | & 1,690 | 1B B EARE

9 |REEHR(TER) 30ke Ao~ FESRYA—RE 31| K 3,000 L IEEE SRR

10 |REEAR (ERA) 2.2kg Ao~ F T Epits 133|& 1,550 | #2 SEA R

1| REBAR(EERRA) 6.6ke Ror FTED 127\ 4,620| T7 -+ —5—HE KM
12 |REEAR(ERR) 30kg BBV ZR— LR E 5K 14,000 LI IE B 3 08)

13 [BHEH X (N2R—ZX +NO(800PPM)) 0L R S ARRER 19|K 42,800 B EHN

14 |EOG 30ke Ao LR 43| K 10,340| 1B SEERHN

15 |&IKANYD L MRIEZE |M5HRED 2,000 |L 5,800 | T X H

16 |RRAR(KE - FAEHIE) 30kg R HES 38,000 |2 EFREARR

17 |B% 7000L R HES X FEHEGL

18 | BHEZRRARFERAKSE) 7000L |#5FE99.995%L £ |AR R RIRDT=R—ILRE E:S 6,860 | T7 -y r—2—HAKMH
19 |BMEERAR (KEHRESHE) 7000L |#EFE99.999%0 L | R REOT=HR—ILRE 163| & 6,000/ LLI IE B 304

20 |7ILTVAR 700L R MR HAR [IE:S 1,400 (BRF 1L

21 |ZLIUHZR 1000L R |FHm 1% 1,500 | #)FX H

22 |BHMETILTUAR (KK 7000L |#EE£99.999% 0 £ |R R KEOT=HR—ILRE 3| A 7,700| 7 -+ —5—REAH
23 |7EFLUHRGEME) tke |TgRoMLIE|RIAR | REOTZA—ILFE 1|ke 2,000 T X H

24 | KFHR(RIK) 7000L |#EEE99.99% L1 £ KEOI=HR—ILRE ES 2,700 | F A

25 [FSA47AR BRER 2,933 kg 498 |12 SEARMIN

26 |iB&H R (N2(80%)+CO2(10%)+H2(10%)) | 7000L 28 BHEN 1|& 15,500/ ) F 1 H




